nut-M3
nut-stl-M3

gasket-M3

*e
...:.@

~-ML2

ML.2X6

(Adjust the extension of the M1.2 screw
nut-
3

to fix the Kofferraumdeckel)

nut-ML.2~ ~ i

nut-ML.2" — @

(Adjust the extension of the M1.2 screw 1i1.2xg
ML2X6

to fix the Kofferraumdeckel)

BY-M2x10

M2 X12
M2 X10
M2X10
M2 X8

M2X10

| i N1
[ i

[ —m

[y

(I

[

©d

~M2 X8

M2X5
nut—-stl-M2

BT-M2X8
BT

NLJ
NLJ
BY
BY
BT-

nut—-M2

3

©

STEP 4

Tips: you should first fix part to part ,

than fix part to part,

T BY-12x12
nut-stl-M2

nut-stl-M2

STEP 3




